


DE AANVALLER VEROVERT 
HET VIJANDELIJKE 
STEUNPUNT.
DE VIJAND MOET AL ZIJN 
SCHEPEN 
TERUGTREKKEN.

The agressor conquers the 
planet.
The enemy has to retreat all his 
stationed ships.

DE VIJAND IS TE STERK. 
HET VIJANDELIJKE 
STEUNPUNT BLIJFT 
BEHOUDEN.
DE AANVALLER MOET 
ZICH TERUGTREKKEN.
ALLE VIJANDELIJKE 
SCHEPEN OP DE PLANEET 
ZIJN VERLOREN.

The enemy is too strong. The 
planet remains of the enemy.
The attacking ship has to 
retreat. All the enemy ships 
stationed on the planet are lost.

DE VIJAND IS TE STERK. 
HET VIJANDELIJKE 
STEUNPUNT BLIJFT 
BEHOUDEN.
DE AANVALLER VERLIEST 
ZIJN RUIMTESCHIP.

The enemy is too strong. The 
planet remains of the enemy.
The aggressor has lost his 
attacking spaceship.

DE AANVALLER VEROVERT 
HET VIJANDELIJKE 
STEUNPUNT.
DE AANVALLER VERLIEST 
ZIJN RUIMTESCHIP.
DE VIJAND MOET AL ZIJN 
SCHEPEN 
TERUGTREKKEN.

The aggressor conquers the 
planet.
The aggressor has lost his 
attacking spaceship. The enemy 
has to retreat all his stationed 
ships.

DE AANVALLER EN DE 
VIJAND ZIJN EVEN STERK. 
DE PLANEET IS VAN 
NIEMAND. DE AANVALLER 
VERLIEST ZIJN 
RUIMTESCHIP. ALLE 
VIJANDELIJKE SCHEPEN 
OP DE PLANEET ZIJN 
VERLOREN.

The aggressor and the enemy 
are equally strong. The planet 
is of nobody. The aggressor has 
lost his attacking spaceship. All 
the enemy ships stationed on 
the planet are lost.
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The aggressor has lost his 
attacking spaceship. All the 
enemy ships stationed on the 
planet are lost.
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The agressor conquers the 
planet.
The enemy has to retreat all his 
stationed ships.


